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1. Below you can find six statements. Answer whether they are true or false [correct answer = 1p.,
wrong answer = -1p., no answer = Op. Min: Op., max 6p.]

a) Dechow, Sloan and Zha (2014) report in their article “Stock Prices & Earnings: A History of
Research” that the adjusted R? from regressing stock prices on cash flows is higher than the
adjusted R? from regressing stock prices on earnings.

b) High degree of financial leverage decreases the risk of the firm.

¢) In the Statement of cash flows, the item Cash flow from investing activities shows the cash
inflows and outflows from borrowing money, selling stock, and paying dividends.

d) Net operating assets = Non-current assets + Current assets.

e) EVA=NOPAT + WACC x Invested Capital.

f) According to the Dupont Identity, ROE =
(Net Income / Revenues) x (Revenues / Invested Capital).

2. Calculate the weighted average # of shares outstanding during the year, if the # of shares in the
beginning of the year is 500, the firm issues 100 new shares on Feb 1 and 100 new shares on
December 1, and buys back 200 shares on April 1. [6p.]

3. We have the following information for the firm: Stock price (P) = 10, Book value of equity per share
(BPS) = 5, Return on Equity (ROE) = 10% and Debt to equity ratio is (DTE) 0.8. Calculate Price to
Earnings ratio (PE). [6p]



